AMARUIN N
ANTUBNA /wuv I



138

ANTWUNE 3 Hf

AMA A1 ANUILNAUTBAIUYDLETIYAT LINDLH DS

o o o
ATNN A1 319a2DYAEINUTENBULETATINALHBTANAAINA -1

RUBLATTUR 3% FoTudau Yaindild U
1 TaslanaLnes Anla991uiinG e 1
2 Support Motor Aluminum 6063 1
3 Bearing Anlseeudinde 1
4 Support Bearing Aluminum 6063 1
5 Cupping Aluminum 6063 1
6 Screw M4x0.7x6 SUS (Steel Use Stainless) 7




139

< = N
ATNN N.2 I8ALDYARIUUTENBURIUIDILYBUUINNNINA -2

2NN N-2 AINUILNOUTUEIUYDILUUUL

RBLATTUR 3% FoTudau Yaindild U
1 wHu8A Cupping Aluminum 6063 1
2 fa8auvuun (flouw)  |Aluminum 6063 1
3 Screw M3x0.5x10 |SUS 6
4 WHUE R Aluminum 6063 1
5 LW Fiber Carbon 1
6 FaBauuuum (H9a9) | Aluminum 6063 1
7 YBFDLIBUUAIUWIUEATY | Aluminum 6063 1
8 Screw M4x0.7x16 SUS 2




140

AT A-3 ANUTLNOUTUAIUYDILLYIATI

AN 1.3 SIYALLBYARIUUTLNDUAINYDILYBANINANA N-3

RO E TG RO ToTusau Yaindild 1944
1 LYBA Fiber Carbon 1
Support :
2 Rod End Bearing Aluminum 6063 2
Nut M4x0.7 SUS 2
4 Rod End Bearing  |anlsesudinds 2




< = ' a4 A
AN N-4 ANUITLNDUTURIUYDILNLLAR D]

AT N4 S1YALLDYAAIUUTLADULHILARDWANNANA N-4

141

RUBLATTUR 7% FoTudau Yaindild U
1 wH3bA 3 D% Aluminum 6063 1
2 JasoBawiwniondi | Aluminum 6063 3
3 Screw M4x0.7x10 SUS 6




142

AWAl -5 MNUsEneuYRsBAueuaLAafT 3 wnw

gInfl A.5 wanBundiulsznauynaitavueuAnad 3 wNUAINAMA n-5

RO E TG RN ToTusau Yaindild 144
1 WAUFIHUY Aluminum 6063 1
2 LOTYpI NS AN 139917 A 3
3 LYWW Fiber Carbon 3
4 LIUAN Fiber Carbon 6
5 AR B3 Aluminum 6063 1
6 safiflanlusinag Aluminum 6063 3
7 Screw M10x1.5x30 |SUS 6
8 Screw M6x1.0x20 |SUS 24
9 Screw M4x0.7x16 SUS 17




143

ANTWUNE 2 HF

419.82

385.18 17

32.50

516.31

210.84
230.84

=

UMLESS OTHERWISE SPECIFIED: FINSH
DIMENSIONS &RE IN AILLUAET ERS
SURFACE FINGH
TOLERA N CES:

LIMEAR:

ANGULAR:

HAME SKSNATURE
DRAMWH

CHE'D

APFU'D

HIFG

=X

DATE

SCALE1:5

447.14

DEEUR AND
BREAK SHARP
EDGES

DO NOT SCALE DRAWING REVEICH

TMLE

MATERIAL:

DWS HO. i A4
bb B U1 b

WEIG HT: STALET:I0 SHEET 1 OF 1



144

©-

62.75 £0.02
O

4xM5 THRU
o
sxMa 20

DO NOT SCALE DRAWING

¢ ¢ A
k{} O-
8 y\ 2xR5 THRU
b 7.25 +0.02 _| 29.29 +0.02
+
wn
o 62.76 £0.02
N .76 0.
sxme V18
/ 70 +0.02
(&)
o d o o 2
oy 990 :
H| = o)
o O O O S
Q # | | o O
wl ™ o
7 +0.02
25 +0.02
45 +0.02
63 +0.02
S s [ s
SURFACE FINISH: EDGES
v
ANGULAR:
NARE SIGNATURE DATE TITLE:
CHK'D
APPVD

WEIGHT.

20 +0.02

REVISION

Support Motor

SCALE: 11

SHEET1 OF 1

A4



UNLESS OTHERWISE SPECIFIED: FINISH:
DIMENSIONS ARE IN MILLIV ETERS
SURFACE FINISH:
TOLERANCES:

LINEAR:

ANGULAR

NANME SIGNATURE DATE

DRAWN

CHKD

APPVD

a.a

25.40 £0.02

13.40 +0.02
2.50 +0.02
BRI
1 ] [ ]
11 | -
1 (] ] 1
[ | [
LA
(n
N
o)
™~ O] O
o § o ¥
ol o ¥l o
H A , of &
Ol m (@)
q ~
o} <
e o
I
J S
BDRE::: SAH'\/‘ADRF’ DO NOT SCALE DRAWING
EDGES
Support
WEIGHT, SCALE:T ]

REVISION

Motor

SHEET1 OF 1

A4

145



146

A j
[ 70+0.02

)38 £0.02 THRU

-

2

4.50 THRU ALL
D8V 4

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIV ETERS
SURFACE FINISH:
TOLERANCES:

LINEAR:

ANGULAR

NANME
DRAWN
CHKD

APPVD

a.a

SIGNATURE

FINISH:

DATE

MATERIAL:

WEIGHT.

DEBUR AND
BREAK SHARP
EDGES

TITLE:

DWE NO.

SCALE:I2

REVISION

DO NOT SCALE DRAWING

Support Bearing

SHEET1 OF 1

A4



737 10.07

420 20.01

D 24.98 -0.01

———————————
| S ——

—1-
L

UMLESS OTHERWISE SPECIFIED: FINISH
DIMERSIGHS ARE IN AIILLWIET ERS
SURFACE FINGH
TOLERANCES

LINEAR

ANGULAR

NARE SISNATURE DATE

DRAMWH
CHE'D
ARPUD)
=

=X

MMATERIAL:

WEIC HT:

DEEUR AND
BREAK SHARP
EDGES

TMLE

DWE HO.

STALE:

36 £0.01

_ 24.50 £0.01 |,

O

OJ; ———

1 o .
0 H

26.50 10.01] |

4.20 £0.0]

—

DO HOT STALE DRAWING REVEION

Cupping

SHEET 1 OF 1

147

2501001

A4



148

$6.20 +0.01
® 4.20 +0.01

D 37+0.01
D 21.70 0.01

1.50 £0.01

6 +0.01

?.50 £0.01

UNLESS OTHERWISE SPECIFIED: FINISH:
DIMENSIONS ARE IN MILLIV ETERS
SURFACE FINISH:
TOLERANCES:

LINEAR:

ANGULAR

NANME SIGNATURE DATE

DRAWN

CHKD

APPVD

a.a

MATERIAL:

WEIGHT.

TITLE:

DWE NO.

SCALE:Z:1

36 +0.01 S)
- O
26.50 £0.01 T
™
=
&
o
Q
0
o
— <
&)
=
BREAK SHARP DO NOT SCALE DRAWING REVISION
EDGES

Cupping

SHEET1 OF 1

A4



149

37

20.70

0)

\ o
\ 4x @ 3.40 THRU ALL
VNS @ 6.30 X 90°

\ 5x @ 4.20 THRU

A

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIM ETERS
SURFACE FINISH:
TOLERANCES:

LINEAR:

ANGULAR:

NAME SIGNATURE

DRAWN

CHKD

APPVD.

QA

REVISION

A4

Cupping



150

SR
11

AR

il

2><@

M3Bx0.5 - 6H V' &

A

2x @ 250V 7.50
M3x0.5 - 6H ¥ &

8.50

16.50

2.50 ' 7.50

sy
A

—4

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIV ETERS
SURFACE FINISH:
TOLERANCES:

LINEAR:

ANGULAR

FINISH:

NANME SIGNATURE DATE
DRAWN
CHKD

APPVD

a.a

MATERIAL:

WEIGHT.

DEBUR AND
BREAK SHARP
EDGES

DO NOT SCALE DRAWING

TITLE:

DWE NO. ¢ ™
LY ANERIR

SCALE:SI1

REVISION

SHEET1 OF 1

A4



2x @ 250V
M3x0.5 - 6H

8.50 20

UMLESS OTHERWISE SPECIFIED: FIMISH DEBUR AND
DIMENSIONS ANILLAET ERS BREAK SHARP
SURFACE FINGH EDGES
TOLERANCES

LINEAR.

ANGULAR

HARAE SIS HATURE DATE e
DEAWH

CHED

APPUD

HFG

Q.8 MATERIAL: TS

WEIC HT: STALER

DO HOT STALE DRAWING REVEION

ar

&1

deuttuis (Blevui)

SHEET 1 OF 1

151




152

UNLESS OTHERWISE SPECIFIED: FINISH:
DIMENSIONS ARE IN MILLIV ETERS
SURFACE FINISH:
TOLERANCES:

LINEAR:

ANGULAR

NANME SIGNATURE

DRAWN
CHKD

APPVD

a.a

DATE

MATERIAL:

WEIGHT.

DEBUR AND
BREAK SHARP
EDGES

TITLE:

DWE NO.

SCALE:I2

@25
@ oo

DO NOT SCALE DRAWING

bbU UL U

REVISION

SHEET1 OF 1

A4



153

20 4
'l" [ e p—
- -
i i
i
Q 0
O &
e S
L
' L 1
5.50|5.50 L 2xM3 THRU 13 o A

REVEICH

UMLESS ©THERWISE SPECIED: FIHISH DEBUR AND . ‘
DIMENSIONS ARE I ATILLUET ERS BREAK SKARP PO HOTSCALEDRAWING
SURFACE FIHISH EDGES
TOLERANCES
UNEAR
ANGULAR
TLE

NARE SISNATURE DATE
DRAWH
CHE'D

APPVD

=
MMATERIAL: B Ad

FMdewuuuis (leans)

WEIC HT: STALER SHEET 1 OF 1



154

. 6.50 30 6.50

2x{4.2C0THRU - - Ds

16 11
— ’ — —
1 r
I ]
1 1
H L
UMLESS OTHERWISE SPECIFIED: FIMISH DEBUR AND
T SCALE DRAWIHG R EVB IO
DIVIENSIGNS ARE 1N AILLKAETERS BREAK SHARP DOHOTSCALEDRAWI REVEION
SURFACE FINGH EDCES
TOLERANCES
LINERR
ANGULAR
HARAE SIS HATURE DATE TALE
DRAWH
CHE'D
APPUD
ARG
oA MAATERIAL:

RN g i : A4
UBDEIBD LU LD LI LU b AN

WEIC HT: STALER SHEET 1 OF 1



155

@10

SCALE S : 1

P \
SICALE B ] @ 3.30 THRU ALL

M4x0.7 - 6H THRU ALL

20

SCALES : 1 SCALES: 1

UNLESS OTHERWISE SPECIFIED: FINISH: DEBUR AND T m——— SEASTBR
DIMENSIONS ARE IN MILLIM ETERS BREAK SHARP
SURFACE FINISH: EDGES
TOLERANCES:

LINEAR:

ANGULAR:

NAME SIGNATURE DATE TITLE:

DRAWN
CHKD

APPVD.

QA MATERIAL:

o Support Rod end Bearing = A4

WEIGHT: SCALE2:] SHEET 1 OF 1



156

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIV ETERS
SURFACE FINISH:
TOLERANCES:

LINEAR:

ANGULAR

FINISH:

NANME SIGNATURE DATE

DRAWN

CHKD

APPVD

a.a

MATERIAL:

WEIGHT.

SCALE1:2

SCALE S :1
|

DEBUR AND
BREAK SHARP
EDGES

TITLE:

DWE NO.

SCALE:I:S

DO NOT SCALE DRAWING

LU U 81

REVISION

SHEET1 OF 1

A4



6.50

6.50

3o
o]

—

\,, oxn4 8

=)

UNLESS OTHERWISE SPECIFIED: FINISH:
DIMENSIONS ARE IN MILLIV ETERS
SURFACE FINISH:
TOLERANCES:

LINEAR:

ANGULAR

NANME SIGNATURE

DRAWN

CHKD

APPVD

a.a

DATE

MATERIAL:

WEIGHT.

DEBUR AND
BREAK SHARP
EDGES

DO NOT SCALE DRAWING REVISION

e 2 r v A =
UV G188 G kb NULA 6810 ULV

157

A4



158

FT
L
=
._=_.
i
[
4
~
=

M 0
I
< N
A4 THRU
7299

UNLESS OTHERWISE SPECIFIED: FINISH DEBUR AND A
DIMENSIONS ARE IN MILLIV ETERS BREAK SHARP REVIHIGN
SURFACE FINISH: EDGES
TOLERANCES:

LINEAR:

ANGULAR

NAME SIGNATURE DATE TLe:

DRAWN
CHKD
APPVD)
WG
G MATERIAL: bweNo:

A4

v 4 =
NANEN SR FSONEN T

WEIGHT. SCALE:I2 SHEET1 OF 1



159

wuynan

Al 1-6 Gusleresn1sInganssily Control Box

ANl A-7 Ausskeveenisansgunsaint Control Box



160

014 5 ._Hﬁ e\
€W N )
N 1 N ——1

-« LN3

029 |04

— | sas % %

| €a za

| ( eao _

1a

180

AN A-8 wuulduaelnly Control box



mIwfi 1.6 Teleduanuaikasiiinvasatnsaisneglu Control Box

$9¢/p 3o I3
o AC100-240V
CB1 Main Circuit Breaker
50/60Hz 32A
L AC100-240V
CB2 Circuit Breaker
50/60Hz 10A
L1 Pilot Lamp AC220V
) Input DC24V, AC220V
D1 Driver Motor 1
Output AC3~
) Input  DC24V, AC220V
D2 Driver Motor 2
Output AC3~
. Input  DC24V, AC220V
D3 Driver Motor 3
Qutput AC3~
Input  AC100-240V
SPS Switching Power Supply 50/60Hz 1.4A
Output DC24V 2.1A
EM1 Emergency Switch DC24V
M1 WIWailaNenes 1 Input  AC3~
M2 0TI INBLADT 2 Input  AC3~
M3 oTwaslaneLnes 3 Input  AC3~
) Input  DC24V
PLC Programmable Logic Controller
Output DC24V

161






